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Which of these shows exactly of the group of 

6 circles shaded?

1
2

00

A. C.

B. D.
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Which of these has 6 faces?

A. Cone

B. Cube

C. Triangle

D. Square

               42
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The picture shows a pattern Virginia is making using 
painted handprints.

Which of the following could be the rule Virginia uses to
make this pattern?

A. Repeat in the same order.

B. Repeat in the same order.

C. Repeat in the same order.

D. Repeat in the same order.
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The pictograph below shows the number of pounds of paper
collected for recycling by each of four friends.

According to the data in the graph, what was the total
number of pounds of paper the four friends collected 
for recycling?

A. 19

B. 20

C. 190

D. 200

Dora

Eli

Hugh

Lynn

Name

PAPER COLLECTED FOR RECYCLING

Number of Pounds Collected

Key    Each       represents 10 pounds.
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Cindy drew a rectangle with a perimeter of 16 inches. The
width of the rectangle is shown in the picture.

Part A. What is the length of the rectangle Cindy drew?
Write your answer in the space provided.

Length in Inches: ____________________________

Part B. Show your work or explain your answer.

_____________________________________________________

_____________________________________________________

_____________________________________________________

?

2 inches

Perimeter = 16 inches



Page 13

����� � ���� ��� ������������

���� � �� ������ ����

����

��

��� ������

�

� �����

����

���� ����

�����

��������������

�����

���

��� �������

������ �������

���� �������

�

��

��

��

��

�

�

�

��

�

�

��

��

��

��

� �

� �

� �

� �

���� �������

������



Page 14

Score Point 2 
The response is complete and accurate. Evidence of work involves sound reasoning. The rectangle 
dimensions are drawn and labeled. The response is based on calculation of the rectangle's 
perimeter (16-4=12…12÷2=6) and is adequate to support the solution (6 in. on each side).

Score Point 1 
The response is incomplete. Justification involves some reasoning (I added 6 inches), but is inadequate to 
support an accurate solution. Evidence of work based on calculation of the rectangle's perimeter is 
incomplete, and the response provides a different value that expected in the answer blank (16).
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Score Point 0 
The response shows no understanding of how to successfully complete the task (It would have to be 
8 because 8×2=16 the perimeter). The student gives an incorrect solution for the length of the 
rectangle (8).



Score Point 0 
The response shows no understanding of how to successfully complete the task (It would have to be 
8 because 8×2=16 the perimeter). The student gives an incorrect solution for the length of the 
rectangle (8).
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